1 —
O Aed, 0 1 4 2

H 9 ()
N IS BN e T € YO T IR Lol R KD

P R 7
Ho oo ogew . gq=flz .T0 (b= mpe) %
, = T= < e >
Ny e T >0 mpe g (2 O
o= 5% S\
q

woope L -] LS 5
(homp)? 90 A 615 1225

. L _ _
(wowp W 4 BIS RIS - 4= )6

=

mp 5O 45 MS AA.S
| |
/xl(f)\ HO ('A%MMJ’/L/W‘Q_/
5o
\’ y (o) T
/&’/1\5/ O[’K(’v\
o
Y va ) 8| 5) c
3 4 + 4/5_— 4 {0 m=GCO

T
1oz, S C
M. 40 Lo =60
/FL 5/6 4/@
m- e 50 Ao
e = M -10 A0
(/“c‘"‘ﬂ)z doo {oD A 7 o n
(e mpeY* Yoo . ‘ el S5 | = S, =t
“po = AA—;) =t = d+o £ A4,

Ho baﬁn—r‘l’kl/‘/% = Aot 9& Mﬁwf_

A0l .. %zm(o\mgvﬁ/{ol% 5 U b a



0 1
flae 43@f4‘2&

He o ol (0 futhadyl 3 Sgrdhs

g, (0 .. )
i L it
T= | —+ |
=1 /M/L/’)bo Ly /D"/QL
[T e
Pe = ene

m=Go

_ 0 a4
i‘mﬁ’ " e T 24
+8 2 & :’9\6112

- —

12 12 i

Jendujppt m X (k-1)

~xE(2)
5%,
b [
T = Ty (005) = 7113
'ﬁ“’O\ﬁ?



A Z. 2
’t: (w + (40/_,1@ i Q{_o—/’écﬂ 2
13 1% 3o N ((kﬂ-(m\«ﬂv

7 - d 93 ( 4»72
G
) /_,r-xL '2

L
A2,0<,
OMCRLY Trmtor ™

1)
= 6&3 = AS\ZL

H’o b’\/‘«'—‘—‘\/ﬂ\(‘/‘”{ '—’—_) X a VI M;)qu %’\’mx/ép/

Lo0E Gy (0399) T AL T e D



(5) Ho i T-0 . whiny rgmindomne T Bl )
o : L. \ -8y —_—
b, T=0. AYon kst 7 @xﬁ){ﬂ—?)
- sl
Wi v S o e BT G
i~ o ol K - e R
L-x 30 20 1o -20 ~
%3 2o =zp =4o A0 J%
= ~ = T y ”\ = -
CR:-F) % Too Yoo Lo Hod £ = A%oo
(’9; —/2_ 31 boo (109 lo= Ao = AocO
. - =2 = 0521y
T [
4 = 0,S214 - @ = ﬂ,fé“lg
1— Oy &
£(2)
Z\go/D o /“
[ A\
_ @ /ﬁ 0,995
15 Tete (0,945)
L =0,86413

Ho ﬂw@m’#ﬂlﬂ”@



